3|
il

o | o U A S
2@01 <:|"I' JE é"c":! = @ R(f)s -

#H PART

WATERPROOF FLAT SWING HANDLES
AB-401A~403A

OPATPEND. (Y2 - &= - Cigt - 52)

Sx|z| = R(Ea) E 2 o= MO glE I £ A AI0| T/0f AUBLICH
= o\E&= = S = ANo= =, S o S me B o .
Feature 712 ZSA/|(ES BE2 numy 28278 S AB-401A-1 (z21248) with Key
ot ELich AB-401A-2 (@21948) Without Key mAsERL
o =T AIHA(DHINE LiAe| EZUXIS S, 13 125 (27.1) 72 Dimension of mounting hole
LINEEYXINE Z2EHiS HERILICH 33 24 12 1.0 MEX 12 40 (42 -
Waterproof packin ) 3H 34
@ Waterproof. (using O-ring and sheet packing) P P El ?( sle?oljling ?ge);tral
@ For both left-hand and right-hand use. (the left-hand or right-hand gg f 7 C position of handle
use can be changed by reversing the cam and stopper plate) 7 1 o ﬂ ‘ N g iw'
@ Mounting screw for stopper plate of this product are rec- d-H-1- / ) 2
ommended that are coated with "anti-loosening" to pre- 3i8 2k 908 V% 1
vent loosening! | Turn 90° / //’ | AT (1.6) mIss <>®
M eolEaE(De) o | Adusment 2 | =
EHR2 FYIAZEZ e : washer i i
2 T eiFet 2X8t ®lofgt 12| ZtE BOX Va <$ 1 1 18
q - p ) i
| I @Key No. /H200 " Y, e E¥2—M AX8 T2
Material @Zinc alloy(ZDC) T ) )
Finish eSatellte chrome plating i 0 TRTYC-44-1 (13.2) \ ¥ S7
Spedific Use @ Electric distribution and control panels,etc \ g""“ at - \\% ”
Remarks @Key No/H200 Opper piate 2/
(88) et 26 Key no/H200 . xig 2 11.2~2.3m
- - - - e Panel thicki licable to install
AB 401A 1 AB 401A 1B v T =0 s AB'402A-1 (AI2I2) With Key Installation plate anel thickness applicable to instal
= 4 So T
Remarks Weight Lot AB-402A-2 (Z4813) Without Key
p | EEESIES
AB-401A-1 SAUS 388 40 Dimens;gn of mounting hole
o d [ezPN[es k=2
AB-401A-2 HAUS 382 40 1 _125 27 65 2 &% =4l
AB-402A-1 ERRE 291 56 30 &= I 1.0 M5 X 10 40 2-g4.2 ing o
i loio Waterproof packing g Revolvling central
AB-402A-2 A SUS 292 56 o
L position of handle
AB-403A-1 A UAZ 225 80 o Yarsa B
AB-403A-2 22igls 223 80 . 19 I77 SR
0 X
AB401A-1B | SHTH/Z4US | 388 40 : Y, = /
AB-402A-1B | ST/ A2UZ 291 56 M A= 000 o b 8
AB-403A-1B | SAUTE/A2(QUS 225 80 L Tumeos S ZHZ (16 &
7|49 / H200 < Adjustment |
Key NO 1 (@7 washer ﬂ
i THEC-44-2
LAEE/C-44- f 24
O | x*l 7‘| HiA 1 |:|=| A-?— 3 = MXE @ @ e h (Sttzdgéer plate ! Key no/H200" HE 227 t1.2~2.3m
3 il T oL 28 9= M= s2nz | Rotis L 24 | CaD _— 23 Panel thickness appiicable to install
"|S_|_I_
DOUBLE LOCK WATERPROOF FLAT SWING HANDLES AB-403A-1 (A1) With Key Installation plate
O ~
AB-401A~402A-1W AB-403A-2 (gigt2) without Key
BASERS
Di i f ting hol
E X @XIZAIZ AIMEIoZM 0|FEZ0| JHsEiLICH imension of mounting hole
Feature @12 ZSWES 22 1YH} £Y378 SHOH w2 1.0 11 . 125 >
o =K NIIA(DHING LiMe| ZURIS S, B, M5X10 2-g42 il B 4
LINEZUXINE =2eHS HERILCH alerprool packing XRevolvling central
@ Can be double-locked by a padlock < - /J'?/ C position of handle
@ For both left-hand and right-hand use. (the left-hand or ) ‘ @ S ﬂ
right-hand use can be changed by reversing the cam { N 2 S /
and stopper plate) 3™ 2 90° =HzZ (1.6 © U 6 8
@ Mounting screw for stopper plate of this product are rec 1 @ | Turn 90° I Adjustment ’ <>Q’
ommended that are coated with "anti-loosening" to pre- =1 y i washer £
vent loosening! PL \ TEEC-44-2 (123) |
W & @O0IMEZ(ZDC) Stopper plate 24
= T5/Z(SPCC) (52) S 23
I 2ot M4 X8
EMH2 eRyaEr] 37%/2@ascd NG Ke o
: X ' y No/H200 - =g 2= t1.2~2.3m
2 T et 2XEt ®lofH, 12 24+ BOX Installation plate Panel thickness applicable to install
H| I @Key No. / H200 AB-401A-1W (2419:2) with Key
Material @Zinc alloy(ZDC) AB-402A-1W (=aj012) wi
@ Plate/ Steel plate(SPCC) 0 (Z2AL) With Key
Finish eSatellte chrome plating,Plate/Satellite chrome plating N | 1.3 125
Specific Use @ Cubicle, distribution boards, control boards, various boxes 33 &+ HZ 1.0 _ M6 X 12 30 11 125
Remarks @Key No/H200 Waterproof packing g WMIN0 | - M5X10
AB-401A-1W —a;\% T o Waterproof packing
Product No. Remarks Weight Lot = . o /7 iR o
- M A= 900 ® 4 & =" 2= 90
AB-401A-1W HAUS 371 40 L Tun 90° " N\ xmEZT (16 all| Tum o0 &
AB-402A-1W AAUS 273 56 ’ ﬁ te e : Adjustment | % | 14.5 O\ =Ez2 (11.6)
/ <> i\ washer L \ Adjustment
Y oo (e I\ washer
B2 s THT/C-44-2
1 lat (t2.3)
Stopper plate Stopper plate
71'gH / H200 Fem AB-402A-1W oo
Installation plate Installation plate

31 Key NO 32



